eas (3,3), (6,6), (9,9), (12, 12) e R, Ris not

cas (6,12) e Rbut (12, 6) ¢ R, Ris transitive as
pair which needs verification is
d (6, 12) eR= (312) R

ber of one-one and onto mapping both set
: 'a! number of elements.

Such number of mapping is zero.

SOLUTIONS

4.

- [adf (acf A) | =| A"~

Skew-symmetric. »
(AB—BA)'= (AB)'- (BA)'=

- BA-AB=—~{4

(256) We have, |Al=4

= A= Ui 4% = ¢




0% ()= (x - u@ﬁ»-e.cw b

LTS

'“iaj'v'*.b‘ 7l U doidw

: -
- o - o 4 oy
D0 H)e ‘_‘ 317 ]

of latfaye b«n Slbom &= 5+ {
2 E ‘w v ﬁa(- (RIRE N 1t D) F \ ¥/
) "7 We have, 2y + x2 g

' [
dy o, Y
= 2— +2x = —_ =
£ ax ,x A ax ! ‘
-.Slope of normal at point (1, 1)=—1=_—1=1'
00081 = QL -1
K

Or

We have, y =sinx, % =COS X

- Slope of normal =( ol ) =
GBS X )5, 50

Hence, equation of normal at (0, 0) is

%

y—0=—1(x—0)
X+y=0
8. Wehave, y=x""*
=  logy=sinxlog
. 1dy sinx

—— =cos xlogx + ——
yadx X

3 4o %xy-_y(cosxlogx+§':—x)

anoliss:
A dy n X E!.r_]_{
= (“&-——xs' cos xlogx +=—
B P 00 [=sC0r B!
' AP fnf!
- 04:

v ﬁ.]le i ::

NTUIQ2

tl=——
o \fl_: 43t '!"ex 2= OIS S 2

=‘[Sec_1 X]1 =8ecC 12_83(‘,“_,*‘ oM _, b

1% T
=——0==
3 X I8RO

10. LetB1=/+2] +kand b2=‘l+3l‘l*?4k, y

Fxf® B
ol , -
Then, b1x bz = _11 23 l 5 uls vy

=ie)-/6)+kE)=C (@)

= | B1xbz| =457 +(F +(5° =53 1

Now, s N —ﬁ—%*‘—-: f!l
| B1xb2|

Hence, required vector = + (104/3 6)
=+ (107 —10] +10k)

11. We have, |Z|=1,fo=f
a=k '
So, aif =kifi=io
12. Weknowthat, b x a=—(a x B) |

1 -,
e Lad
- - - . .
So, angle between a x band bxaism
AX

13. Wehave,2-3=apa’|=3and|3124'. -y il

.".Projection of 3 on b
14. We have, (3 + B)-(a- 5’) L 8

—)
| a I2—|3|2—8

PGS .8 ok

o .ﬁmua B w @1



B)=07-05=02
WP =PA-P(ANE)
< T EY R Tt
=0.4— 02 02

_have. A and B are independent event.
P(AnB)=P(A)- P(B)

PB)=PANB) (ﬁ(';)B)

A
(%)

We have, P(A)=0.3 P(B)=0.6, P(%J =0.5

‘ BY PBNA

Now, P(Z) = _—(P(A) )

= P(B N A)=0.3x05=015

- Again, P(AU B)=P(A)+ P(B) - P(ANB)
=03+ 06-0.15

=09-0.15=075

10 m ®

= AP
% +h2—(10)2
x2+h2=100

For inaxie, S
ax

100 —10x —2x° _

100 — x2

r=ss
=)
o
=
Again

d2A

100 —10x —2x% =0
x°+5x-50=0
(x+10)(x 5)=0

x=5 [.x>0..x+10=0]

i ¥ _0y2
P (10 A (100 — 10x —2x“)x
100 - x2

ax?

100 — x?

_ 2x3 - 300x — 1000

3
(100 — x?)2

dZAN LTSl

= — =——=<0
dxzx=5 75

So, Ais maximum atx=5m

(iv) (b) We have,

h =100 — x2
=./100 - 25

=75
=5/3m

; 1
(V) (a) Maximum value of A= — (10 -
2( ‘ + 5),/100 — 25
753,
=——m

18. (i) (c) We know that,

2




; 1
90 r‘ . On differentiating both sndes we get

i o 21 8 y
%’P& V1)4 4?0 % e 10° ( dy)(x y) (x+y 1- ‘
=-3——3 v_\‘ . ' 3 (x y) TETL =
2 ' : |
5o 5 x_y+(x—y)%—x—y+(X+

V) dP(X=20)=P(X = 0) + ‘P(X = 1)’+ P(X=2)=1

S, @ 5 o
19. Clearly, all positive real numbers have the same image = (Xx-—y+X+Yy) y= 2x
equal to 1. So, f is many-one function.
Gl ) Hence
- Weobserve that the range of fis {1, 0, 1} which is not = ax X Proxs
equal to the codomain of . So, fis not onto ar
Hence, fis neither one- ong rnor onto. (2) Gven. E ﬁ Ty +y J1 + X=0
N
For R to be reflexive (b, b)and (c, ¢ ) should belong to R = xyl+y ==y 1+ x
and for R to be transitive (a,¢) should belong to R as = X2+ y)= y_2 (1+ x) [squaring bqfth Sides) |
(@ b)eR and (b,c) e R. Hence, minimum number of b, iy M3 D :
ordered pairs to be added is R is 3. (2 == A
20. LetOAis inclined at an angle Y to OZ. = (X + y)(x = y) ==Xy (x = y)=SEUE.
Given, a = 60° and B = 45° [x#f)
cos?a +cos?p +cos®y =1 b X=—y-—xy=y(+x)=-x il
= c0s260°+c0os? 45%+ cos?y =1 - S wans 2
04 i ) 1 1+ x y
= — 4 =4 COSy =1L = cos yzz
_ S 1 d __[a+x1-x@+9]_ 1
= COSY=§:$ =602 (1) ax (1+X)2 (14
on oA L, T 1 P Hence Pro
< ,\T' ( RS 23. We have, A=[°°SO —sin®
b o Lo R sSin® cos6
=10(+I+‘—]+—kJ : bt
€ m ‘/5 2 = AT =[COSG Slne]\
= o ) 2 : —sin®
OA=5 + 5V27 + 5k (1) : GOS8 e
iarit wood W (204 ‘ NOW, A A

:[ cqse sing | cos® -—sinf|
—sin® cosﬁ | | —svj,'nie 5)(00’89




Bbe the event of drawn a diamond card 11t
draw. Then, .(.v 200 + dip{mop card inthe

48+ 11! 3

| ‘ .“»52‘.=-5§=— {

fo drawing a diamond card in first draw 51 cards are
jeftout of which 12 cards are diamond cards.

and P(B/ A) =Probability of drawing a diamond card in

second draw when a diamond card has already been
dfawn in first draw

G T2 [ og
5o, 51 17
C 17 o
- Required probability = P (A nB)
=P(A)P (B/A)
=04k =7
E=—X—=—
s 77 )
= — o o 3y &
%, Wehave,a Lb Lcand| al=|b|=|c|=1
- D o o o
a-b=b:-c=c.-a=0 (1)
= — =3
S —)2 SRR P
Now, [2a+b+c|[*=QRa+b+c)Ra+b+c)

Lo it TR
l23+ 5)+<—;|=\/5 (1)
2 2
3 J' tan< x sc:c X o
1-tan®x
Let tan®x =t = 3tan’xsec’x dx =at
2 7
tan“ x sec dx-3 ot (1)

TR E R R J
G — — [ _|og | —— +C
R 3[2 Sl
i B a_+._x+c]
E ‘[m-%logv e
L ci +C

ert ol stanendcai ot

- Now,

=-[t-logt -t]+C is!

=>-t-logtft+.C i |
= —cos xlog cos X + COS TACH
n a < £ <
27. Let/ = [log tan x ok A ()

A Ol

-~
Il

log tan(g - x) ax [? f(x)dx = Tf(a - x)dx]
0 0

(i) (1)

log cot x dx

—
I
o—mia ©

On adding Egs. (i) and (i), we get

2/ = | (log tan x + log cot x)ax

O o=—nia O—mia

log 1dx=0

log (tan x cot x)ax =

O |3A

(1)

—
Il

28. We have, (1+ xz)% + 2xy =cot X

2x  cotx

ay
.—_.+ | i
R

ax
Which is a linear differential equation.
2
F=g' 1+ d =901+ ) 4 42
The solution is given by
y-(1+ x?)= [cot xax + ¢

=
1)

y(1+ x2)=log sin x + ¢

, (1)
29. Let cos'x=a,cos'y=p and cos'z=y
cosa =Xx,cosp=yandcosy=z
Since, a+Pty=m
o, + B=imsgy-mue S
cos(a +B)=cos(m-y)

=  cosa cosP -sinasing = -‘i@"y‘ ‘
! - o e B £
] I f.*



POe 1 il b e

XD X 1 .l vy LSS
x2-320
2 =V +V)2
!vkh.\ \.‘.+ { ] ‘!\ : :'1\14_
(. X €(~o0, ~V3]U[V3,0) | | ()
when  x?<5
= STy, S Db (1)
= (x-,@)({+J5)SO |
b iate e o 5 iy
-0 _\lg _Jg 00
xe[~/55] ' (i)
From Egs. (i) and (i), we get
. X €[-V/5, - V3]U[V3, V5] (1)
o sinx ' Y/cos x
30. Letl--_f(w/ta’ntx+«/cotx)dx—."(\/(_:o_s7 JsuTJ
[ tane-—"ﬁandcote-MJ
cos 0 inicly Sind
J-smx+cosx
' Vsinx+/cos x | (1)
Ismx+cosx

,/sin X COS X

() ¥ sinx+cosxdx (*x
JEI,/Zsmxcosx 2 e
¢=1'T00 biw : Rk o 1
| —*/—f sinx+cosx ROD X = 1200
: 2! ¥¥i J—(szQICO$X) SoMI3

W

Put sinx —cosw= + »
oS! j (=dt wr.M (1)

&

&%3# Q)l\l 800~ & (1)

w b 1§ ‘\[r slhB-‘Zélna-é@S aﬁd‘w%‘dg@
My 2 2 o Wi ’;‘p
y J. 4 -.-.\.1. +23|n X/2)GQ§Q(
2c0s?(x/2)  2008%(x/2)

X 217 b
_Ie[ sec()nan }dx i

Thus, we have integration of the form
[eX [F)+ £ ()l i) b

2 X

a4
=tan— = f!(X)=86C°=.— = gand!
Here,  f(x)=tanz (x)= 25 5% i
/=e"f(x)+c=e"tan§+c ‘
[+ [e*f(x)+ f'(x)] ok =exf()&)lc]‘ﬁj
31. We have,
(x® = 3xy?)dix = (y® - 3x%y)dy.
dy  x3-3xy?
5. o (o' Sademt
ax  y°-3x%y
Clearly, the given equation is a homogeneous
equation. (1)
Put  y=vx and S)Z(=V+ xZ—:,weget
8 . afe2
ax  v3x3 —3x3v
2 y
S V4 Xﬂ_ 1—:3V' A
) pyvSi=gy
s (dv _1-82 1 vt
dx  v3-3y V3 -3
Ak AN S A '
= —av=|—adx
; ‘[1—v4 1 X
=>fv3;dv 3j 'Vdv i
ol : =10g | X
T ogd | 1-v4 g



oW & 030 ‘D"&d‘ il 0 ;
‘Z:'gs’ -8 r—jﬂoglcxl
1
logl1 —v* |—3l og ' 4Iog|cx|
-2
e (1)
411+ 2
camcyy (1—v2J =legient|

1 1-12)° .
T B e e )

A=V2P =(1+ v2) ex)*
1-v2 = (14 V22 (ox)2

y? y2)?
—— =1+ 2 oy
= 2 ( xz] (cx) [-v=y/x]
= 2_ 2=(x2+y2)202

(1)

32. Given equation of circle is X + y2 = 22, its centre is

(0, 0) and radius is a. It cuts the X-axis at Aa, 0) and
Y-axis at B (0, a). Also, it is symmetrical about X and
Y-axes both.

B(0, a)

2 2 L2
LBy
i

| Y (1)
| Clearly, area of region in | quadrant

= _[: yadx = I: S = aix [consider vertical strip]

Lx?+ y2 =a?— y = /a2 — x2, as yis in | quadrant]

2
=[g Va2 - x2 ¢ §2—sin J

-1 X
\ a
Bbg A 1(a o2 il a2 (n)_ na?
) §x0+?sm 1 ——2— > 2 "

o ir ™
{8 n) \ ' l: sin” ! W)= E:I
OW, required area = 4 x Are’za of region in | quadrant

_4x1'?__1.;a " sq units
Iy

a

_“‘> 7 v Sr‘!l y = .‘ .
@ ’ce reQlon is symmetncal in all quagl:ants] (1)

Thus, the c e(e' .

ch aragher\ >

Now, dlfferentuatlﬁg xeqmaﬁen fo) w.rt. X,

o dy | (x=2)(x=8)-1-(x=7) [(x =2)- 1+ (X

& %200 e o 150 @Il
_x-2)(x-3-(x-7)@x=5

[x-2(x-9F
(x—2)(x—3)[1 i)

B ____;-(2x - 5)1
(x—2)(x-93) ;i
[(x-2)(x—9F

_1-y@ex-9 [using Eq. ()]
(x—2)(x-3) (1)

ﬂ) Pric03" 0
va (dx oy (572 (20

Thus, slope of tangent = — ; -
us, slope genl= 20 | |
= =-20
and slope of normal = slope of tangent

Hence the equation of tangent at (7, 0) is
1
-0=—(x-7) = 20y—-x+7=0
y o o) y

and the equation of normal at (7, 0) is y —0 = —20(x —7)
or20x+ y—140 = 0. (1)
34. Given, x =3cos0—cos39
On differentiating both sides w.r.t. 8, we get
Z—; =~3sin6 - 3cos? 0 (—sing) .
=3cos® 8sin® — 3sin@
=3sin6(cos?0—-1) [+ cos? @+ sin2 g— 1]
=-3sin%0 .. (i)
and y =3sin6-sin® @
On differentiating both sides w.rt. 6, we get

dy
=1
9 COS 0 — Ssm 0cos O

=3co0s 0 (1-sin? 0)
=3c0s0-cos? 8= 3cos3g ..(ii)

dy
o \= )09‘,.1@df,r -n
= 6 snfe %
£} (i G906t . "“‘S"<é+fs4_'
- Now, equati tion of@he normal at
(8cos 6 — cos 93sme-» e B




a9,

36.

3
= y-3sin0+sind 9= L (x - 3cose+cos 0)
cos®@
= w:os‘3 0 - 8sin6cos® 0.+ sin geosd e =xsin® @
- 8sin® 0cos 6 + sin® 0cos®e (1)

= yc0s®6-xsin®0 + 3(sin? beos -sinBcos®0) =0
= yc0s30 - xsin3 0 + 3sinBcos &sin®0 - cos? 0)=0

= ycos30 - xsinde —gsinzecosze =0

p:gnze=2mnecosacos2e—sm29=cos2m
. ycos® 0 - xsind g —gsin49= 0

' [* sin40 = 2sin20 cos20]
~4(y cos® 0 — x sind 0)=3sin40 Hence proved. (1)

Wehave, y = M logV1-x2 (i)

Vi-x2

‘On differentiating both sides of Eq. (i) w.rt. x, we get

dy _d [ xcos'x R
o dx(ﬁ]——log 1-x ) (1/2)

w/1-x2[x- (_1)2 +cos“1x]
Vi1-x

—xcos*1x-+(—2x)

) 2V1-x2

(\/1—x2

(—2x)

\/Tz\/T—‘

1

2
—x+\/1—xzcos‘1x+m2—x &
vi-x
L
(W1-x2)2 V1-x22 ()
24 it
X
—x+\/1—x2cos'1x+x\/—co—§2—+x
1—x

(1/2)

(W1=x2)2
_ (1-x®)cos™ 1x+x GOSH pnaB0S ™ X )
i X272

Hence proved.

The equation of a plane passing through the point
L2 2 1)is ' :

a(x-2)+b(y-2)+c(z-1)=0 (i) (1/2)

Also, it is passes through the points M(3 0, 1) and

N(4, -1, 0), respectively.
~alB-2)+b(0-2)+c (1-1)=0

: a-2b=0
:: a=2b (ll)(llz)
and a(@-2)+b(-1-2)+c (0-1)=0
= 2a—-3b-¢c =0 |
P = 2@b)-3b-c=0 [from Eq. (il)]
= h‘b -c=0
: ¢ =b

.
On puttinga=2bandc =bin Eq. (i), we get
2b(x-2)+b(y-2)+b(z-1)=0
o 2x -4+ y-2+2-1=0 [dividsb
= PR 2T LI (y
A(8,-4,-5)

m
X
B
(@,-3,1)
Let the point P divide the line joining points A and gj;
the ratio m : n.

Then, coordinates of P are
P(2m+ 3n -3m-4n m—an

m+n ' m+n ''m+n

1)
Since, the line crosses thg plane at point P, So, the
coordinates of point P satisfy the equation of plang
2X+y+z="7.

.,.2[2m+3n] +(—3m—4nJ+[m—5nJ -
m+n m+n m+n

= 4m+6n-3m-4n+m—-5n=7m+7n

= 2m—-3n=7m+7n
= -5m =10n
= m=-2n ..V

Now, the coordinates of P are

2x(=2n)+ 3n -8x(-2n)-4n —2n-5n
=2n+ 0 o \—2n + 4. Sy—opke
ie. ( 121 i”j or (1,-2,7)
-n"-n' -n
From Eq. (iv),

m=_2n: m=—2
n

Hence, P divides the line joining points A and 8
externally in the ratio 2 -1 . w
Or

e
Let P(1, -2, 3) be the given point and Q (a,B,7) P& ™}
point on the given plane 0

X=y+z=5 ot
Such that PQ is paralle| to given line whose dire
ratios are (2, 3, — -6).
B\

P(1,-2,3)

Q(a, B, 1)




" PQ Position vector of @ - Position vector of p
= (of +B +vR)=( ~2] + 3f)
=(a-1y+B+2) + (v -3k

=% >
since, PQ is parallel to b.
a-1 p+2 y-3
P = e == A.
= 3 - (say)
since, the point Q(a.,B,y) lies on the plane (i), so it

satisfies.

: a—B+y=5
=>(2k+1) (BA-2)+(-6L+3)=5
B, Ihnmgssa o
7 (1)

-
Now, putk— in Eq. (ii), we get
:2X—+1,B:SX——2andY:—6xl+3
7 7

=11 15

9
=—B=—-andy =—
= 713 - i

Hence, coordinates of Q are Lg il 1_5]
TE TR T

..Required distance

BG )  5)
)

BREEE}

=;\/4+9+ 36=;=1unit 1)

The linear programming problem is
Maximise Z = 0.08x + 0.10 y
Subject to the constraints
X + y 12000, x > 2000, y > 4000

and x>0,y>0
Consider the constraints as equations, we get .
X + y =12000 20
X =2000 o<(l)
y = 4000 ....(iii)
and S0
Bk for x 4 — 12000 is (1)
X 0 12000
y 12000 0

.l Passes through the points (0, 12000) and

u“’"S (0, 0) inthe inequality x + y <1 2000 we get
: 0+ 0<12000

0 <12000 [

..The shaded region is towards the origin. = (1)
"+ Line x =2000 is parallel to Y-axis.

On putting (1000,0) in the inequality x = 2000, we get
1000 > 2000 [false]

-. The shaded region is at the right side of the line.

- Line y = 4000 is parallel to X-axis.

On putting (0,6000) in the inequality y > 4000, we get

6000 > 4000 [true]

-.The shaded region is above the line.
The intersection point of lines (i) and (iii), (i) and (iii),

(i) and (i) are respectively,

A(2000, 4000), B(8000, 4000) and C (2000, 10000). (1)
Now, plot the graph of the system of inequalities. The
shaded portion ABC represents the feasible region
which is bounded.

Y2 4 x=2000
\ L, (0, 12000)
12000 <
10000 4 \L.C (2000, 10000)

8000 -
6000 -

B(8000, 4000)

4000 — >
A(2000, 4000 y = 4000
2000 -
(12000, 0)
Xt > X

T

of & EToaars
(= (e | N = ST (=) 1 0S)
vl 8 8 8 8 (8 S x+y= 12000
o O

(1)

And the coordinates of the corner points are
A(2000, 4000), B(8000, 4000) and C(2000, 10000),
respectively.

Now, the values of Z at each corner point are given
below

Corner points Z =0.08x + 0.10y

Z = 0.08 (2000) + 010 (4000)
= 160+ 400= 560

Z =008 (8000) + 010 (4000)
= 640 + 400 = 1040

Z =008 (2000) + 010 (10000)
=160+ 1000 = 1160 (maximum)

A(2000, 4000)

B(8000, 4000)

C(2000, 10000)

.. Maximum value of Zis 1160 at (2000, 10000). (1)

Or

The given LPP is maximise

L=ty
< Or NS
Subject to constraints 1)
BXsk 2YSE8m orft_sidss st ro
2x + 3y <42 @ 8na and
X, y=0 1)



Vmaﬂupsvambauaﬂbﬁs

‘ ) d‘wa‘\,wg:f 1|' P
‘ nkumaﬁwwwmw #(0.000 g n

I 2x+3y =42

" Table for line 3x + 2y = 48is

B X 0 16
e 24 0

So, it passes through (0, 24) and (16, 0).

- On putting (0, 0) in 3x +2y < 48, we get
0+0<48

= 0<48 (which s true)

So, the half plane is towards the origin.
Table for2x + 3y = 42 is

X 0 21

y 14 0

So, it passes through (0, 14) and (21, 0).
On putting (0, 0) in2x + 3y < 42, we get

0+0<42 = 0<42 (whichis true)

So, the half plane is towards the origin.

On solving Egs. (i) and (i), we get
x=12 andy=6

Thus, the point of intersection is (12, 6).

From the graph, OABCD is the feasible region which is
- bot unded. The corner points are O(0, 0), A(0, 14)

B2, and C(16,0).

PRS- ean ‘Fhe‘values of Z at comer pomts are as follows

Lﬂ)ﬁﬂt OO0C) do. QR LY aM

88, JRmiinss - C)lo ey roffac

bomerpolnts Value of Z = x+y

(1) rcosﬁ -sin&~

_ |velueofZ=x+y,

v noMasT = ?.""\

10 B <y
=|oigtl tan < 0|
i 2
r o
0 1 —tan—2—
3 1
_tan2

(1)3

cosa -Ssina
RHS:'(/ = A)[ sino.  cosa

10 0 —tana/Z]}[cosa -sina
={[0 1]_{tana/2 0] sina cosa
1-0 0+ tana/2][cosa -sina

=[—tanot/2 1-0]| sina cosa

i 1 tana/2|[cosa -sina}
= ~tan a/2 1|| sina cosa il

, . o
cosa + tangsma —sina + tan—2—cos<x

: (04
—tan%COSOL + Sina tanE sino + Cos a

[multiplying rows by columns

( TR ! o (0
COSa COS— + Sin o sina —sina cos-é 4 smEcosa

cos 2 cosoL
= 2 . 2
. % O e O a
—8IN—Cosa + Sin o COS—  Sin — Sino. + COSa. COS—
2 2 2 2
a o
CcosS— e
i > 0082 I
f
r o =
cos(a - —) sin| & - o
W @, 2
a —_—
cosE cos >

COS"E COoS—
2 o ‘,

[ COS(A - B)=cos AcosB + sin AsinB
and sin(A - B) = sin Acos B - oS




Or
We have the following system of equations

X+y+2z=7000 ()
4 10X+ 16y + 17z = 110000 m(ii)
and Ky <8 ... (i)

This system of equations can be written in matrix fr
as AX =B

P e X 7000
where, A=/10 16 17| X =|y andB:[ﬂooooJ

om

1 -1 0

z 0
1 9 (1)
Here, |Al=[{10 16 17
el £
= |Al=10+17)-1(0-17)+ 1(-10-1¢)

=17+17-26=8+=0 (1/2)
5o, A is non-singular matrix and its inverse exists.

Now, cofactors of elements of | A| are
1617

An=(-17 O!=1(0+17)=17
Am=FWﬂ21g=—KO—W)=W
A13=(—1)41(1) 1_j=1(-1o—16)=—26 (1%2)
Az1=(-1)3_1 gl=—1(0+1):-1

A22:(~1)4: J[=1(o—1)=-1

Aog = (=17 } _}[ =l 151)=2

Ao

A31 =(""1) (el

_ el 1
Agp = (=1) 10

1
A =CT4g

1

1
17

1J=1(16—10)=6

Ay An Agl
adj(A)=| Ay Ay

Ap3

Asi A Asz

178417
=10
=/

17
Now, A“:——:—[ 17

adj (A) _ 1
|Al

X=A"B
5 ] 17
= yl==| 17
z 8—26

9000
=—| 9000
38000

On comparing the corresponding elements,

i

i -
8 26 2 6

2
6

<

2

b

1125
1125
4750

we get x =1125 y =1125, z = 4750.

7000

oL
7 || 110000
6

119000 — 110000 + O
=—| 119000 -110000 + 0
| —182000 + 220000 + 0

|

|=1(17-16)=1

|= ~1(17=10) = -7

= 2
=
—7i5 oM

|

and the solution of given system is given by

|

|

(1)

(1)

(1)



